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Instructions : 1. sAssume suitable data if necessary.
2. Notations have their usual meaning,
PART-A -

Answer any two full questions from the following.
Q.1 a) Explain the following signals with respect to 8085. 06
i) X,,X, i) HOLD ii) AD,—AD,

b) With a neat timing diagram explain the execution of the following instruction in an 8085 08

MICTOProCessor.

Memory Address Instruction Hex Code
FOOOH MVI A, FFH 3EH
FOO1H FFH

c) Write instructions to load two unsigned numbers in Register B and C respectively. Subtract 06
C from B. If the result is in 2’s complement, convert the result in absolute magnitude and
display it at PORT 1 ; else display the positive result.

-

Q.2 a) Calculate the number of memory chips needed to design 2K byte of memory if the memory 04
chip size is 1024 X 4 bits . -~

b) Identify the addressing mode, number of bytes, type of machine cycle and T-states for each 08
of the following instructions.
i)  LDAIO00H ii) RET ii) STAXD iv) INRB

c) Explin the Flag register in an 8085 processor. Also write instructions to clear the entire 08
flag register in 8085.

Q3 a) Write an 8085 assernbly language program to find the count of positive and negative 08
" numbers. 10 numbers are stored in memory starting from F100H. Store the count of positive
numbers in Register B and count of negative numbers in Register C.

b) Write an 8085 program to count from 0 to 20H with a delay of 100 ms between each count. 12
After the count 20H, the counter should reset itself and repeat the sequence. Display the

numbers at one of the output ports Assume clock frequency =2 MHz . Show the delay
calculations. :
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PART- B
Answer any two full questions from the following.
Q4 a) Design a seven segment LED output port with the device address F4H, using a 74LS138 10
3 —to-8 decoder, a 741.820 4 — nput NAND gate a 74LS02 NOR gate and a common —
anode seven — segment LED. Write instructions to display digit 7,9,and 1 at the seven
segment LED with a delay of 0.4 sec between each digit .

b) Briefly efplain hardware interrupts of 8085, 06

¢) Explain why the number of output ports in peripheral mapped I/O is restricted to 256 ports. 04

Q.5 a) Describe 8259 internal architecture with a block diagram. 10
b) Exphin in detail RST instruction. Also draw the circuit diagram to implement RST 4 . 06
¢) Explain the advantages of using the USART chip in MICroprocessor system, 04

Q.6 a) Assuming the Microprocessor is completing an RST 7.5 interrupt request check to see if 07
RST 6.5 is pending. Ifit is pending, enable RST6.5 without affecting any other interrupt
otherwise , return to main program.

b) Write a program to blink Port C bit of 8255. Assume address of control word register of (7
8255 as 83H. use Bit Set/ Reset mode .

¢) Calculate the values of LSB, MSB and fill scale output for an 8 bit DAC for 0 to 10V 03

range . E
d) Explain the instruction used to identify pending interrupts. 03
PART- C

Answer any one full questions from the following .

(@)L a) Write an 8035 program to convert a two digit BCD number between 0 to 99 into its 10
equivalent binary number .

' ‘,b)“)Specify the number of times the following loops are executed 06
il
“LOOP: MVI B, 64H
NOP
DCR B
JNZ LOOP
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ORA A

MVI B, 64H
LOOP :DCR B

JNC LOOP
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Memory locations 2050H and 2051H contain 3FH and 42H respectively . Register pair DE 04

contains 856 FH. Write instructions to exchange the contents of DE with the contents of
memory locations.

Write the mitialization instructions for 8259 interrupt controller to meet the following
specifications.

i) Edge triggered , single and ICW4 are not needed

i1) Mask mterrupts IR, and IR;.

1ii) Interrupt vector address for IRg is 6280H

iv) Call address intervals are four bytes

List the four mstructions used for controlling mterrupts.

Explain the transmitter section of 8251.

)
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